3EEH (p30~32) KEHREDT Lf,itv%:é@-@
(31370 LEG)
1
@ 71111 @ 2171213
+|5[3]|8 + 51312
112419 312515
® b4 + 6192 + 946 = 6192 + (B4 + 946)
= 6192 + 1000
= 7192
(3 1=DVE=E®)
4 6 3
@ [%]0]9 @| [%|5]|7 ® 6 [ 4.
2|77 - 121915 -1 41
213|2 4012 2|2

KENSDVHODEEMH |

HGZIAN

Q @ ®06

@)
NAE a:lZI’("%’CD’EIiJ‘M#F)tH%Hh"
drselzbozloLUKCOTISS !

(2] |~ i
¢ - - \ _ HATIERD, ZOHFDOT
HATEW  EETEHEL LS (L) 625+345=970 5Bk Lo
ANTH,
(1)132+385 @)247+356 (7)985+7437
(2)763+127 (5)335+813 (8834-273  (10743-138
(3)529+194 ©)6722+2894  (9209-31
HhS
= 970 | 780 | 603 | 178 | 723 | 561 | 517 | 9616 | 890 | 645 | 605 | 1148 | 8422
N C|lEIH#HID|IE|S A K| H|IL||D




